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           Paradigm Specialising in O Level Mathematics 

Maths Secrets  

6 MUST KNOW QUESTIONS TO CONQUER  

LOGARITHM 
1 Given that 𝑙𝑜𝑔2, 𝑎 = 𝑏, express 

(i) a in terms of b, 

(ii) 𝑙𝑜𝑔2 (
𝑎4

32
)  in terms of b, 

(iii) (
1

8
)

𝑏

 in terms of a. 

 

Ans: (i) 𝑎 = 2𝑏, (ii) 4𝑏 − 5, (iii) 
1

𝑎3 

2 Given that log𝑥 2 = 𝑝 and log4 𝑦 = 𝑞, express the following in terms of 𝑝 and/or 𝑞. 

(i) log4
4𝑥

𝑦
, 

(ii) 𝑥𝑦. 

 

Ans: (i) 1 +
1

2𝑝
− 𝑞   (ii) 2

1

𝑝
+2𝑞

 

3 Solve the following equations 

(i) lg(1 − 𝑥) − lg(𝑥 + 3) = 2lg3, 

(ii) 2logx2 = 3 + log2𝑥2. 

 

Ans: (i) 𝑥 = −2
3

5
   (ii) 𝑥 =  √2 or 𝑥 =

1

4
 

4 Solve the equation 

(i) lg(𝑥 − 3) + 3lg2 = 1 + lg (
1

5
𝑥), 

(ii) 4log6𝑥 − 2log𝑥6 =  7.  

 

Ans: (i) 𝑥 = 4, (ii) 𝑥 = 36 
5 Solve, for x and y, the simultaneous equations 

52𝑥

53𝑦
=

5

53(5𝑦)
 

log3(𝑥 − 4) =  log3(𝑦 − 1) − log3𝑥. 
 

Ans: 𝑥 = 0 (reject), 𝑥 = 5 or 𝑦 = 6 
6 The graph of 𝑦 = log𝑎𝑥 passes through the points with coordinates (27, 3), (1, 𝑏) and 

(𝑐, −1). Determine the value of each of the constants a, b and c.  

 

Ans: 𝑎 = 3, 𝑏 = 0, 𝑐 =
1

3
 

 


